RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions

Exercise 4.7
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Evaluate the following :
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Evaluate the following :
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Evaluate the following :
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Q6

Evaluate the following :
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Evaluate the following :

zin 1{sin 3)
Solution
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Evaluate the following :
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Evaluate the following :

sin™! (zin 12)
Solution
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Evaluate sin™ (sin 2
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Evaluats cos! Jl:.:-g [%”.

Solution
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We know that,
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L gl
Evaluats cos™" {c-:re: [—FJ |

Solution
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Q13

Evaluate the following :

cos! (cos 3)

Solution
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cos (oos3)
=3 o [ cos™ (cose) = 8 if 8[0, ]

Q14

Evaluate the following :

cos™! (cos 4)

Solution
cos! (oos4)

=2Zr=4 .. ( cos™ (onsd) = 25 -6, if*ElE[-JI..Ea'_.j

Q15

Evaluate the following :

cos™! (cos 3)

Solution

cos™ (cos5) \
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24

Q16

Evaluate the following :

cos™! (cos 12)

Solution

cos™cos12)
= dx-12 [ o057 (cos) = 4n- g if 65[3::,4:1]]

Q17

Evaluate the following :

tan | tan X
an (EH'IE]

Solution
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tant ( tan I]
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Q18

Evaluate the following :

tan™ [:an ﬂ]

;

Solution
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x
Q19

Evaluats tan? Jianil
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Solution
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tan~t Lanil
l 6l

Wea know that,
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Q20

Evaluate fhe fallowing

tar? [ i

tan —
=
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Q21

Evaluate the following :

tan™! (tan 1)

Solution

w
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tar~ (tan 1]
=l v E (a0 8) - 8 |'F-—:|£[—1T-‘,f:]]
Q22

Evaluate the following :

tan™! (tan 2)
Solution
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Evaluate the following :

tan™! (tan 4)

Solution \
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Evaluate the following :
tan™ (tan 12)
Solution
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Q25
Evaluate the following :

sec (SECEJ
3
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Solution
gec [secf
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Q26

Ewvaluate the following :

sect [secﬁ]
3

Solution

Q27

Evaluate the following :
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A

Solution
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Evaluate the following :
7
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Solution

Evaluate the following :
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5
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Q30

Evaluate the following :
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Q31

Ewvaluate the following :
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Evaluate the following :
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Evaluate the following :

cosec? | oosect
a
Solution
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Evaluate the following :
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Evaluate the following :

cos ect [oosec %)
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Q36

Evaluate the following :
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Evaluate the following :
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Q39

Evaluate the following :

cotrt [r:ol: E]
3
Solution

cot™ [mtg]
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Q40
Evaluaiz e following
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Evalugie the following ;

cott [ cot 23 J
4

Solution
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Q42

Evaluate the following :

oot [cc:-t EJ
o

Solution

Evaluate the following :
™
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cot? {c-:ﬂ: .,
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- cort [ oot 30~ g]}
[
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Evaluate the following :
cot™t {l::ot [&]}
4

Solution
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Q45

L 3
Writa cot™!

Solution

i | > 2 in the simplest form.
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- i
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Q46

Write "'F:I'I_l{-\c f--u'11-:~f2] in the simplest form

Solution
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Lan"{x +J1+x’.

Let, x = cot&

tan~? [cau Jl - Cotze]
= g [coza ¥ stecza]

= tan™' [eo18 + cosece]

it 1 +mse]
sné
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oSl
=tan 12
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2
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[

—_—

Hence,

Q47
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{S inca, 1+cot® 8 = cos -ac*&}

{Smce, cote= 250 remga L
I siné sn@
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Write tar? [JI-H-’ - x}, ¥ =R in the simplest farm
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Q48

B
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['.-Thrll:E-. 1+ cot® #=cos -a.::ﬁ'}

1 coséd
[Smr;r:, COSECH = —-, TOlE = '?5 }
1 sind S1nE |
. 2 .
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. £
Wirite tan"{$}, » &0 in the simplest fomw
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lan-x!\l_if*’_-l}l v el
~
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tan~'
=

e +1} .
—_— =0
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h F I l
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S —
]
rlE
|
1] =
o
3

Q50

write tan! J32 X

a8+ K

Solution
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Sinee, 1+ tan< &= sert ﬁ'}

1 zing
{'SHTF_F.'_ sEpCf = , ken& = I
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tan
Let,
, sin° @ 200s° 8
J'Smce. 1—£0SB == ; .+Cu58-+}
- [ccsn
= tan” l[tan J,Slnce, 20, . :en}
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e [ 3 (%Y
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2 3 3
Hence,
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2= X 2 - 'S
Q51
‘S
write tan? - a<x < a in the simplest form
—_—— i - ] "
a+ a5t 3

Solution
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-1 X

ia+ 222

¥ o= 3Ens

t;n"!l
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tan = @K < d
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— | .sing
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Q52

Wiite-each of i following in fhe simples! form®
PR .+\/’1—.3] 1 1
in—1]=—¥=- = | - -
vz 2 Z

C x <

'

Solution
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2
Since, 1- sin® 8- cos g
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giri ! !-H +yl "kz-t.
R
Let, X = 5ing

5|I‘|'1 {5:n5'+ 41 - ~3||'|Ev:5'l>

42
= [dn8 +:ms8]
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=

i 1
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2 V2
a - " e T
= S SIS COE = + COSBEN —
a4 .-'I-}

a5t j5|r.-lll5|-.- E]l.
| 4}

\
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El

T ~1
= +30 K
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{Slr'u:e, i-antd= ITL‘IE'EL‘?}

{Sir'-ce. Sinx oSy +eosK siny = sin (& + 5-'!-]-

Hernoa,
5||-|"1 ﬂ & Xopmnte
Vz *
Q53
. .
Write sin* '{-v:“- i -: ;' D=a <1 inthe simplest fgrm,
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> D<x <l

Let, N o= C0S28

et {\h +cos@ 41— cos 8]

Y { J+v+fi-x }

=5in

s

4 {\Fz Las% 5 £ 42 sm’el

- Sin
2
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I
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Q54

1- " .
Writs an{E‘ tar ! ‘I.II +x iry thie sim plest farm
X I

Solution
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JSmca; 1+cns’a=2 cnszﬁ,]
[ 1-wewzsinte |

Sinee, sinx msy = casx siny =sin (v +¢)

{Elnw. cosdE N =B - —1—0&:_“»}
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-)-.
sin’Z tan~ ,r—-— .
| 1w
f
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14X 2
=\)|l-\’J1°A
= ,_..2
Hence,
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